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Find the sinusoidal steady state vo(t) for the following circuit by

(2) covert the vi(t) in time domain into the frequency domain Vi,

(2) find the transfer function H(j ¢) in the frequency domain,

(3) find the numerical value of the H(j &) by plugging the frequency wgiven in the figure,
(4) find the V,, in the frequency domain from (1) and (3),

(5) convert the V, in the frequency domain into vo(t) in time domain.
(AssumingL=10H,R1 =120 Q,and R =60 Q.)
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1) Vi=

(2 H(ja)=

(3) H(jw)=|H|Og
where |H| =

,and ¢ =

(4) Vo=

(5) Vo(t) =




